VENDOR				ALAM	O MUSIC CEN	NTER INC.	THE BAND SHOP				
	%OFF CATALOG PRICE				0%		30%				
	%OFF LIST PRICE				25%		30%				
	%OFF SHELF PRICE				10%				30%		
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1	\$1,699.00	\$1,699.00	2-3 Weeks		\$1,425.00	\$1,425.00	15-30 Days		
2	GEMEINHARDT FLUTE REF: 2SP or Equal	4	\$349.00	\$1,396.00	2-3 Weeks		\$279.00	\$1,116.00	7-10 Days		
3	YAMAHA FLUTE YFL-461H OR Equal	2	\$1,289.00	\$2,578.00	2-3 Weeks		\$1,200.00	\$2,400.00	7-10 Days		
4	FOX OBOE REF: 330 or Equal	1					\$3,147.00	\$3,147.00	7-10 Days		
5	FOX BASSOON REF: FOX 51 or Equal	1			No Bid		\$3,600.00	\$3,600.00	15-30 Days		
6	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4							No Bid		
7	BUFFET Bb CLARINET REF: E11 or Equal	2	\$995.00	\$1,990.00	2-3 Weeks		\$899.00	\$1,798.00	7-10 Days		
8	SELMER BASS CLARINET REF: 1430P or Equal	1	\$1,459.00	\$1,459.00	2-3 Weeks		\$1,750.00	\$1,750.00	7-10 Days		
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2			No Bid				No Bid		
10	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1	\$3,599.00	\$3,599.00	2-3 Weeks				NO DIG		
11	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2	\$1,725.00	\$3,450.00	2-3 Weeks		\$1,999.00	\$3,998.00	7-10 Days		
12	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3	\$1,045.00	\$3,135.00	2-3 Weeks		\$1,300.00	\$3,900.00	7-10 Days		
13	YAMAHA TENOR SAX REF: YTS-23 or Equal	2	\$1,275.00	\$2,550.00	2-3 Weeks		\$1,650.00	\$3,300.00	7-10 Days		
14	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1	\$4,095.00	\$4,095.00	2-3 Weeks		\$4,800.00	\$4,800.00	7-10 Days		
15	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4			No Bid		\$800.00	\$3,200.00	7-10 Days		
16	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2	\$2,165.00	\$4,330.00	2-3 Weeks		\$1,999.00	\$3,998.00	7-10 Days		
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1	\$2,145.00	\$2,145.00	2-3 Weeks		\$1,900.00	\$1,900.00	7-10 Days		
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1	\$2,495.00	\$2,495.00	2-3 Weeks		\$2,000.00	\$2,000.00	7-10 Days		
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1	\$1,265.00	\$1,265.00	2-3 Weeks		\$1,800.00	\$1,800.00	7-10 Days		
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1	\$1,865.00	\$1,865.00	2-3 Weeks		\$2,000.00	\$2,000.00	7-10 Days		
21	BACH TENOR TROMBONE REF: BACH TB301 OR EQUAL	2	\$575.00	\$1,150.00	2-3 Weeks		\$459.00	\$918.00	7-10 Days		
22	BACH TENOR TROMBONE REF: BACH 36 BO OR EQUAL	2	\$2,325.00	\$4,650.00	2-3 Weeks		\$2,200.00	\$4,400.00	7-10 Days		
23	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2	\$2,325.00	\$4,650.00	2-3 Weeks		\$2,200.00	\$4,400.00	7-10 Days		
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2	\$2,325.00	\$4,650.00	2-3 Weeks		\$2,200.00	\$4,400.00	7-10 Days		
25	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1			No Bid		\$3,900.00	\$3,900.00	7-10 Days		
26	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2	\$2,575.00	\$5,150.00	2-3 Weeks		\$2,700.00	\$5,400.00	7-10 Days		
27	KING SOUSAPHONE REF: 2370W OR EQUAL	2	\$3,325.00	\$6,650.00	2-3 Weeks		\$2,800.00	\$5,600.00	7-10 Days		
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1	\$4,642.00	\$4,642.00	2-3 Weeks		\$3,950.00	\$3,950.00	7-10 Days		
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1	\$5,682.00	\$5,682.00	2-3 Weeks		\$4,725.00	\$4,725.00	7-10 Days		
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1					\$999.00	\$999.00	7-10 Days		
31	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6					\$259.00	\$1,554.00	7-10 Days		
	YAMAHA CON BASS DRUM REF: CB640BFS7 OR										
32	EQUAL	1			No Bid		\$1,450.00	\$1,450.00	7-10 Days		
33	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1			INO DIÚ		\$699.00	\$699.00	7-10 Days		
34	MC ADAMS METRONOME REF: 20X OR EQUAL	2					\$700.00	\$1,400.00	7-10 Days		
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2						· · · · · · · · · · · · · · · · · · ·			
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1							No Bid		

VENDOR				BR	ROOK MAYS I	MUSIC	CASCIO INTERSTATE MUSIC				
	%OFF CATALOG PRICE				0%		catalog is already discounted up to 70%				
	%OFF LIST PRICE				0%						
	%OFF SHELF PRICE				0%						
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ETA	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1	\$1,639.00	\$1,639.00	7-10 Days		\$1,495.00	\$1,495.00	30-45 Days	PIC4WSSK	
2	GEMEINHARDT FLUTE REF: 2SP or Equal	4	\$249.00	\$996.00	7-10 Days		\$234.00	\$936.00	15-20 Days	FLU25P	
3	YAMAHA FLUTE YFL-461H OR Equal	2	\$900.00	\$1,800.00	3-7 Days	Mikawa DY461HM	\$1,135.00	\$2,270.00	15-45 Days	FLUYFL461H	
4	FOX OBOE REF: 330 or Equal	1	\$1,900.00	\$1,900.00	3-7 Days	Triebert OB330	\$3,312.00	\$3,312.00	120 Days	OBO330	
5	FOX BASSOON REF: FOX 51 or Equal	1	\$2,800.00	\$2,800.00	3-7 Days	Schott BSN4	\$3,958.00	\$3,958.00	60-90 Days	BAS51	
6	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4	\$350.00	\$1,400.00	3-7 Days				No Bid		
7	BUFFET Bb CLARINET REF: E11 or Equal	2	\$640.00	\$1,280.00	3-7 Days		\$810.00	\$1,620.00	30-60 Days	BCLBC2501F20	
8	SELMER BASS CLARINET REF: 1430P or Equal	1	\$1,515.00	\$1,515.00	7-10 Days		\$1,370.00	\$1,370.00	30-60 Days	BBC1430LP	
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2	\$1,290.00	\$2,580.00	3-7 Days				No Bid	_	
10	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1	\$3,200.00	\$3,200.00	7-14 Days	Ridenour BBC147 BBb	\$3,419.00	\$3,419.00	30-60 Days	CBC7182	
	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2	\$1,200.00	\$2,400.00	3-7 Days	Erich DY1000As	\$1,513.00	\$3,026.00	30-60 Days	EASYAS475	
12	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3	\$650.00	\$1,950.00	3-7 Days	Erich DY23E	\$871.00	\$2,613.00	15-20 Days	EASYAS26	
	YAMAHA TENOR SAX REF: YTS-23 or Equal	2	\$900.00	\$1,800.00	3-7 Days	Erich DY23TS	\$1,098.00	\$2,196.00	15-30 Days	BTSYTS26	
	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1	\$2,900.00	\$2,900.00	3-7 Days	Erich BS-52	\$3,725.00	\$3,725.00	15-30 Days	EBSYBS52	
	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4	\$350.00	\$1,400.00	3-7 Days	Schmidt SD200TL	\$538.00	\$2,152.00	15-20 Days	CORYCR2310IIS	
	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2	\$1,990.00	\$3,980.00	7-10 Days		\$1,891.00	\$3,782.00	30-45 Days	BTR180S37	
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1	\$2,150.00	\$2,150.00	14-21 Days		\$1,839.00	\$1,839.00	30-60 Days	COR181ML	
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1	\$2,450.00	\$2,450.00	7-14 Days		\$2,276.00	\$2,276.00	30-45 Days	DFHH379	
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1	\$900.00	\$900.00	3-7 Days	F. Schmidt F3VL	\$1,147.00	\$1,147.00	30-45 Days	EUPYEP201	
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1	\$1,500.00	\$1,500.00	3-7 Days	F. Schmidt F4VS	\$1,692.00	\$1,692.00	30-45 Days	EUPYEP321S	
21	BACH TENOR TROMBONE REF: BACH TB301 OR EQUAL	2	\$375.00	\$750.00	3-7 Days	F. Schmidt FTB 500	\$399.00	\$798.00	20-45 Days	ТВОТВ301	
22	BACH TENOR TROMBONE REF: BACH 36 BO OR EQUAL	2	\$2,275.00	\$4,550.00	7-14 Days		\$2,112.00	\$4,224.00	30-90 Days	FB036BO	
23	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2	\$2,275.00	\$4,550.00	7-14 Days		\$2,112.00	\$4,224.00	30-90 Days	FB036BO	
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2	\$2,275.00	\$4,550.00	7-14 Days		\$2,112.00	\$4,224.00	30-90 Days	FB042B	
25	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1	\$3,650.00	\$3,650.00	30-45 Days		\$3,556.00	\$3,556.00	60-90 Days	TUBCBB68140	
26	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2	\$2,000.00	\$4,000.00	7-14 Days	F. Schmidt F3VT	\$2,231.00	\$4,462.00	30-90 Days	TUBYBB105WC	
27	KING SOUSAPHONE REF: 2370W OR EQUAL	2	\$3,300.00	\$6,600.00	14-21 Days		\$3,089.00	\$6,178.00	30-90 Days	SOU2370W	
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1	\$4,700.00	\$4,700.00	21-30 Days		\$4,410.00	\$4,410.00	60-90 Days	SOU2350W	
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1	\$5,600.00	\$5,600.00	21-30 Days		\$5,303.00	\$5,303.00	60-90 Days	SOU2350WSP	
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1	\$950.00	\$950.00	14-21 Days		\$797.00	\$797.00	30-60 Days	BELM645	
31	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6	\$200.00	\$1,200.00	3-7 Days	Cadence CBK2000	\$167.00	\$1,002.00	20-30 Days	BELPK900L	
	YAMAHA CON BASS DRUM REF: CB640BFS7 OR										
	EQUAL	1			No Bid		\$1,269.00	\$1,269.00	30-90 Days	CDRCB640BCS7	
	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1			1		\$501.00	\$501.00	30-60 Days	BELYG250D	
34	MC ADAMS METRONOME REF: 20X OR EQUAL	2	\$820.00	\$1,640.00	30 Days	New Model 30	\$883.00	\$1,766.00	30-60 Days	ET32130	
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2	\$830.00	\$1,660.00	21 Days	Digimet III					
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1	\$3,350.00	\$3,350.00	21 Days				No Bid		

VENDOR				HILLJI	E MUSIC CEN	TERS, LLC.	MELHARTS MUSIC CENTER					
	%OFF CATALOG PRICE				20-50%		30-50%					
	%OFF LIST PRICE				20-50%		30-50%					
%OFF SHELF PRICE					20-50%		30-50%					
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ETA	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model		
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1	\$1,639.00	\$1,639.00	1-2 Weeks		\$995.00	\$995.00	Immediate	Adamson APC-700		
2	GEMEINHARDT FLUTE REF: 2SP or Equal	4	\$249.00	\$996.00	1-2 Weeks		\$229.00	\$916.00	Immediate	Adamson AFL-200		
3	YAMAHA FLUTE YFL-461H OR Equal	2	\$1,169.00	\$2,338.00	1-2 Weeks		\$229.00	\$458.00	Immediate			
4	FOX OBOE REF: 330 or Equal	1	\$3,329.00	\$3,329.00	4-6 Weeks		\$1,295.00	\$1,295.00	Immediate	Adamson AOB-300		
5	FOX BASSOON REF: FOX 51 or Equal	1	\$3,899.00	\$3,899.00	4-6 Weeks		\$2,995.00	\$2,995.00	Immediate	Adamson ABA-300		
6	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4	\$199.00	\$796.00	1-2 Weeks		\$199.00	\$796.00	Immediate	Adamson ACL-106		
7	BUFFET Bb CLARINET REF: E11 or Equal	2	\$649.00	\$1,298.00	1-2 Weeks	Andino ACRNZ100			No Bid			
8	SELMER BASS CLARINET REF: 1430P or Equal	1	\$1,429.00	\$1,429.00	1-2 Weeks	1430LP	\$1,295.00	\$1,295.00	Immediate	Adamson ABCL-300		
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2			No Bid		\$1,295.00	\$2,590.00	Immediate	Adamson ABCL-300		
	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1	\$3,589.00	\$3,589.00	1-2 Weeks	L7182	\$2,995.00	\$2,995.00	Immediate	Adamson ACBCL-300		
11	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2	\$1,559.00	\$3,118.00	1-2 Weeks							
12	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3	\$919.00	\$2,757.00	1-2 Weeks				No Bid			
13	YAMAHA TENOR SAX REF: YTS-23 or Equal	2	\$1,149.00	\$2,298.00	1-2 Weeks				NO BIG			
14	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1	\$3,839.00	\$3,839.00	1-2 Weeks		1					
15	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4	\$569.00	\$2,276.00	1-2 Weeks		\$350.00	\$1,400.00	Immediate	Adamson ACR-400S		
16	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2	\$1,969.00	\$3,938.00	1-2 Weeks					•		
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1	\$1,919.00	\$1,919.00	1-2 Weeks							
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1	\$2,369.00	\$2,369.00	2-4 Weeks		No Bid					
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1	\$1,169.00	\$1,169.00	1-2 Weeks							
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1	\$1,729.00	\$1,729.00	1-2 Weeks					_		
1	BACH TENOR TROMBONE REF: BACH TB301 OR											
21	EQUAL	2	\$409.00	\$818.00	1-2 Weeks		\$299.00	\$598.00	Immediate	Adamson ATB-300		
1	BACH TENOR TROMBONE REF: BACH 36 BO OR EQUAL	2	\$2,199.00	\$4,398.00	1-2 Weeks							
23	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2	\$2,199.00	\$4,398.00	1-2 Weeks				No Bid			
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2	\$2,199.00	\$4,398.00	1-2 Weeks				1	1		
	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1		No Bid	I		\$2,995.00	\$2,995.00	Immediate	Adamson ATU-500		
	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2	\$2,269.00	\$4,538.00	1-2 Weeks		\$1,395.00	\$2,790.00	60 Days	Adamson ATU-300		
	KING SOUSAPHONE REF: 2370W OR EQUAL	2	\$3,199.00	\$6,398.00	1-2 Weeks		\$1,995.00	\$3,990.00	60 Days	Adamson ASO-200		
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1	\$4,599.00	\$4,599.00	1-2 Weeks		\$2,995.00	\$2,995.00	Immediate	Adamson ASO-300		
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1	\$5,499.00	\$5,499.00	1-2 Weeks							
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1			No Bid				No Bid			
	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6										
1	YAMAHA CON BASS DRUM REF: CB640BFS7 OR								1			
	EQUAL	1	\$1,339.00	\$1,339.00	2-4 Weeks	CB640BCS7	\$1,995.00	\$1,995.00	Immediate	Melhart MPCBD-4018		
	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1	\$539.00	\$539.00	2-4 Weeks	YG-250D						
	MC ADAMS METRONOME REF: 20X OR EQUAL	2	\$799.00	\$1,598.00	2-4 Weeks	New Model 30	No Bid					
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2										
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1			No Bid							

VENDOR					N.E.M.C.		NORTHEAST MUSIC, INC				
	%OFF CATALOG PRICE			0-50% Call f	or possible add	itional Discounts	10%				
	%OFF LIST PRICE						40%				
	%OFF SHELF PRICE								10%		
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1	\$1,467.00	\$1,467.00	20-30 Days		\$248.70	\$248.70	10 Days		
	GEMEINHARDT FLUTE REF: 2SP or Equal	4	\$216.00	\$864.00	7-15 Days		\$1,138.00	\$4,552.00	15 Days		
3	YAMAHA FLUTE YFL-461H OR Equal	2	\$1,167.00	\$2,334.00	10-30 Days]				
4	FOX OBOE REF: 330 or Equal	1	\$3,137.00	\$3,137.00	30-60 Days]				
5	FOX BASSOON REF: FOX 51 or Equal	1	\$3,727.00	\$3,727.00	30-75 Days]				
	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4			No Bid]		No Bid		
7	BUFFET Bb CLARINET REF: E11 or Equal	2	\$796.00	\$1,592.00	10-20 Days				NO DIG		
8	SELMER BASS CLARINET REF: 1430P or Equal	1	\$1,386.00	\$1,386.00	10-45 Days]				
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2			No Bid						
	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1	\$3,460.00	\$3,460.00	30-45 Days						
11	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2	\$1,548.00	\$3,096.00	20-30 Days		\$1,525.00	\$3,050.00	15 Days		
	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3	\$910.00	\$2,730.00	20-30 Days		\$849.00	\$2,547.00	10 Days		
	YAMAHA TENOR SAX REF: YTS-23 or Equal	2	\$1,147.00	\$2,294.00	20-30 Days		\$1,088.00	\$2,176.00	10 Days		
	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1	\$3,793.00	\$3,793.00	10-20 Days		\$3,709.00	\$3,709.00	15 Days		
15	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4	\$466.00	\$1,864.00	20-30 Days		\$544.80	\$2,179.20	15 Days		
	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2	\$1,957.00	\$3,914.00	10-20 Days		\$1,983.00	\$3,966.00	20 Days		
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1	\$1,852.00	\$1,852.00	20-45 Days]				
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1	\$2,292.00	\$2,292.00	20-45 Days				No Bid		
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1	\$1,168.00	\$1,168.00	10-20 Days		\$1,075.00	\$1,075.00	10 Days		
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1	\$1,723.00	\$1,723.00	10-20 Days		\$1,479.00	\$1,479.00	10 Days		
21	BACH TENOR TROMBONE REF: BACH TB301 OR EQUAL	2	\$404.00	\$808.00	10-20 Days		\$489.00	\$978.00	10 Days		
1	BACH TENOR TROMBONE REF: BACH 36 BO OR										
22	EQUAL	2	\$2,137.00	\$4,274.00	30-45 Days						
23	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2	\$2,137.00	\$4,274.00	30-45 Days				No Bid		
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2	\$2,137.00	\$4,274.00	30-45 Days						
	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1	\$3,523.00	\$3,523.00	10-20 Days						
	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2	\$2,272.00	\$4,544.00	10-15 Days		\$1,893.00	\$3,786.00	10 Days		
	KING SOUSAPHONE REF: 2370W OR EQUAL	2	\$3,126.00	\$6,252.00	20-45 Days		1				
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1	\$4,441.00	\$4,441.00	30-45 Days		1				
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1	\$5,341.00	\$5,341.00	30-45 Days		1				
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1			No Bid						
31	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6]				
	YAMAHA CON BASS DRUM REF: CB640BFS7 OR								No Bid		
32	EQUAL	1	\$1,292.00	\$1,292.00	20-45 Days	<u> </u>]				
33	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1	\$515.00	\$515.00	20-30 Days						
34	MC ADAMS METRONOME REF: 20X OR EQUAL	2									
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2			No Bid						
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1			NO DIG						

VENDOR					PERIPOLE, II	NC.	TAYLOR MUSIC, INC.					
	%OFF CATALOG PRICE		20	% Please inqui	ire about shippi	ng charges per order						
	%OFF LIST PRICE		* * * * * * * * * * * * * * * * * * * *					10-60% Call or Email for additional discounts				
	%OFF SHELF PRICE											
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model		
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1					\$1,519.00	\$1,519.00	30 Days			
2	GEMEINHARDT FLUTE REF: 2SP or Equal	4					\$220.00	\$880.00	30 Days			
3	YAMAHA FLUTE YFL-461H OR Equal	2					\$1,126.00	\$2,252.00	30 Days			
	FOX OBOE REF: 330 or Equal	1					\$3,098.00	\$3,098.00	30-90 Days			
	FOX BASSOON REF: FOX 51 or Equal	1					\$3,665.90	\$3,665.90	30-90 Days			
6	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4						T	No Bid			
7	BUFFET Bb CLARINET REF: E11 or Equal	2					\$774.95	\$1,549.90	10 Days	E11F Silver keys (better)		
8	SELMER BASS CLARINET REF: 1430P or Equal	1					\$1,344.00	\$1,344.00	10 Days			
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2						1	No Bid			
10	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1					\$3,344.00	\$3,344.00	10 Days			
11	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2					\$1,504.00	\$3,008.00	10 Days			
12	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3					\$890.00	\$2,670.00	10 Days			
13	YAMAHA TENOR SAX REF: YTS-23 or Equal	2					\$1,120.00	\$2,240.00	10 Days			
14	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1					\$3,696.00	\$3,696.00	10 Days			
15	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4					\$544.00	\$2,176.00	10 Days			
	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2					\$1,844.00	\$3,688.00	10 Days			
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1					\$1,798.00	\$1,798.00	30 Days			
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1					\$2,222.00	\$2,222.00	30-90 Days			
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1					\$1,129.00	\$1,129.00	10 Days			
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1					\$1,666.00	\$1,666.00	10 Days			
21	BACH TENOR TROMBONE REF: BACH TB301 OR EQUAL	2			No Bid		\$399.00	\$798.00	10 Days			
22	BACH TENOR TROMBONE REF: BACH 36 BO OR EQUAL	2					\$2,066.00	\$4,132.00	30 Days			
	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2					\$2,066.00	\$4,132.00	30 Days			
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2					\$2,066.00	\$4,132.00	10-30 Days			
25	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1					\$3,777.00	\$3,777.00	15-30 Day			
26	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2					\$2,195.00	\$4,390.00	10 Days			
27	KING SOUSAPHONE REF: 2370W OR EQUAL	2					\$3,049.00	\$6,098.00	30 Days			
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1					\$4,317.00	\$4,317.00	30-60 Days			
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1					\$5,169.00	\$5,169.00	30-60 Days			
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1					\$822.00	\$822.00	10 Days			
	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6								•		
	YAMAHA CON BASS DRUM REF: CB640BFS7 OR											
32	EQUAL	1										
33	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1					<u></u>		No Bid			
34	MC ADAMS METRONOME REF: 20X OR EQUAL	2					\$766.00	\$1,532.00	30 Days	New Model 30		
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2					\$666.00	\$1,332.00	30 Days	New Model II indoor		
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1					\$3,239.00	\$3,239.00	15 Days			

	VENDOR		TEMPES	T MUSICAL II	NSTRUMENT	TEXAS BAND & ORCHESTRA					
	%OFF CATALOG PRICE				10%		25-60%				
	%OFF LIST PRICE				10%		25-60%				
	%OFF SHELF PRICE				10%				25-60%		
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ЕТА	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1	\$695.00	\$695.00	In Stock	Tempest Musical Instruments			No Bid		
2	GEMEINHARDT FLUTE REF: 2SP or Equal	4	\$295.00	\$1,180.00	In Stock	Tempest Musical Instruments	\$389.00	\$1,556.00	30 Days	Armstong 102	
3	YAMAHA FLUTE YFL-461H OR Equal	2	\$1,095.00	\$2,190.00	In Stock	Tempest Musical Instruments					
4	FOX OBOE REF: 330 or Equal	1	\$1,495.00	\$1,495.00	In Stock	Tempest Musical Instruments					
5	FOX BASSOON REF: FOX 51 or Equal	1	\$3,395.00	\$3,395.00	In Stock	Tempest Musical Instruments			No Bid		
6	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4	\$295.00	\$1,180.00	30-60 Days	Tempest Musical Instruments					
7	BUFFET Bb CLARINET REF: E11 or Equal	2	\$795.00	\$1,590.00	In Stock	Tempest Musical Instruments					
8	SELMER BASS CLARINET REF: 1430P or Equal	1	\$1,495.00	\$1,495.00	In Stock	Tempest Musical Instruments	\$1,729.00	\$1,729.00	30 Days	1430LP	
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2	\$1,495.00	\$2,990.00	In Stock	Tempest Musical Instruments			No Bid		
10	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1			No Bid		\$4,304.00	\$4,304.00	30 Days	L7182	
11	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2	\$795.00	\$1,590.00	In Stock	Tempest Musical Instruments					
12	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3	\$495.00	\$1,485.00	In Stock	Tempest Musical Instruments	ļ				
13	YAMAHA TENOR SAX REF: YTS-23 or Equal	2	\$995.00	\$1,990.00	In Stock	Tempest Musical Instruments			No Bid		
14	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1	\$2,895.00	\$2,895.00	In Stock	Tempest Musical Instruments	ļ				
15	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4	\$895.00	\$3,580.00	60-90 Days	Tempest Musical Instruments					
16	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2	\$695.00	\$1,390.00	In Stock	Tempest Musical Instruments	\$2,390.00	\$4,780.00	30 Days		
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1	\$595.00	\$595.00	In Stock	Tempest Musical Instruments	\$2,390.00	\$2,390.00	30 Days		
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1	\$1,795.00	\$1,795.00	In Stock	Tempest Musical Instruments	\$2,895.00	\$2,895.00	30 Days		
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1	\$895.00	\$895.00	In Stock	Tempest Musical Instruments					
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1	\$995.00	\$995.00	In Stock	Tempest Musical Instruments			No Bid		
21	BACH TENOR TROMBONE REF: BACH TB301 OR EQUAL	2	\$695.00	\$1,390.00	In Stock	Tempest Musical Instruments	\$522.00	\$1,044.00	30 Days		
	BACH TENOR TROMBONE REF: BACH 36 BO OR					<u> </u>			Ť		
22	EQUAL	2			No Bid		\$2,690.00	\$5,380.00	30 Days		
23	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2					\$2,690.00	\$5,380.00	30 Days		
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2	\$795.00	\$1,590.00	In Stock	Tempest Musical Instruments	\$2,690.00	\$5,380.00	30 Days		
25	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1	\$3,195.00	\$3,195.00	In Stock	Tempest Musical Instruments			No Bid		
26	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2	\$1,995.00	\$3,990.00	60-90 Days	Tempest Musical Instruments			110 Did		
	KING SOUSAPHONE REF: 2370W OR EQUAL	2			No Bid		\$3,890.00	\$7,780.00	30 Days		
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1	\$3,295.00	\$3,295.00	In Stock	Tempest Musical Instruments	\$5,552.00	\$5,552.00	30 Days		
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1					\$6,419.00	\$6,419.00	30 Days		
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1					\$1,194.00	\$1,194.00	30 Days		
31	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6									
	YAMAHA CON BASS DRUM REF: CB640BFS7 OR										
32	EQUAL	1			No Bid						
33	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1							No Bid		
34	MC ADAMS METRONOME REF: 20X OR EQUAL	2							NO DIU		
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2									
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1									

	VENDOR		woo	DWIND & BR	ASSWIND	WASHINGTON MUSIC CENTER, INC.					
	%OFF CATALOG PRICE		3	3% Please Call	or Email for A	dditional Discounts	0-60%				
	%OFF LIST PRICE						0-60%				
	%OFF SHELF PRICE								0-60%		
ITEM	MODEL / DESCRIPTION	EST QTY	UISD PRICE	EXT.	ETA	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	UISD PRICE	EXT.	ETA	BRAND /MODEL PROPOSED; If left blank we will assume you are bidding the specified model	
	GEMEINHARDT PICCOLO REF; 4WSSK or Equal	1	\$1,730.00	\$1,730.00	7-30 Days		\$1,480.00	\$1,480.00	30 Days		
2	GEMEINHARDT FLUTE REF: 2SP or Equal	4	\$230.00	\$920.00	7-30 Days		\$224.00	\$896.00	30 Days		
3	YAMAHA FLUTE YFL-461H OR Equal	2	\$1,190.00	\$2,380.00	7-30 Days		\$1,125.00	\$2,250.00	30 Days		
4	FOX OBOE REF: 330 or Equal	1	\$3,191.00	\$3,191.00	7-30 Days		\$3,085.00	\$3,085.00	90 Days		
5	FOX BASSOON REF: FOX 51 or Equal	1	\$3,790.00	\$3,790.00	7-30 Days		\$3,663.00	\$3,663.00	30 Days		
6	RIDENOUR Bb CLARINET REF: TR 147 or Equal	4			No Bid		\$255.00	\$1,020.00	30 Days	Jupiter 635N	
7	BUFFET Bb CLARINET REF: E11 or Equal	2	\$830.00	\$1,660.00	7-30 Days		\$870.00	\$1,740.00	30 Days	BC2501 F-1	
8	SELMER BASS CLARINET REF: 1430P or Equal	1	\$1,520.00	\$1,520.00	7-30 Days	1430LP Current Model	\$1,339.00	\$1,339.00	30 Days		
9	RIDENOUR BASS CLARINET REF: BC 147 or Equal	2			No Bid		\$1,073.00	\$2,146.00	30 Days	Jupiter 673BN	
10	VITO CONTRA- BASS CLARINET REF: 7182 or Equal	1	\$3,790.00	\$3,790.00	7-30 Days		\$3,340.00	\$3,340.00	30 Days		
11	YAMAHA ALTO SAXOPHONE REF: YAS475 or Equal	2	\$1,570.00	\$3,140.00	7-30 Days	YAS480 Current Model	\$1,500.00	\$3,000.00	30 Days	YAS480 Current Model	
12	YAMAHA ALTO SAXOPHONE REF: YAS-23 or Equal	3	\$930.00	\$2,790.00	7-30 Days	YAS26 Current Model	\$882.00	\$2,646.00	30 Days		
	YAMAHA TENOR SAX REF: YTS-23 or Equal	2	\$1,170.00	\$2,340.00	7-30 Days	YTS26 Current Model	\$1,111.00	\$2,222.00	30 Days		
	YAMAHA BARITONE SAX REF: YBS-52 or EQUAL	1	\$3,860.00	\$3,860.00	7-30 Days		\$3,693.00	\$3,693.00	30 Days		
	YAMAHA CORNET REF: YCR-2310 II OR EQUAL	4	\$570.00	\$2,280.00	7-30 Days		\$534.00	\$2,136.00	30 Days		
	BACH TRUMPET REF: BACH 180S37 OR EQUAL	2	\$2,090.00	\$4,180.00	7-30 Days		\$1,847.00	\$3,694.00	30 Days		
17	BACH CORNET REF: BACH 181 ML OR EQUAL	1	\$2,040.00	\$2,040.00	7-45 Days		\$1,797.00	\$1,797.00	30 Days		
18	HOLTON FRENCH HORN REF: HOLTON 379 OR EQUAL	1	\$2,525.00	\$2,525.00	7-30 Days		\$2,223.00	\$2,223.00	60 Days		
19	YAMAHA EUHPHONIUM REF: YEP-201 OR EQUAL	1	\$1,190.00	\$1,190.00	7-30 Days		\$1,137.00	\$1,137.00	30 Days		
20	YAMAHA EUHPHONIUM REF: YEP-321S OR EQUAL	1	\$1,750.00	\$1,750.00	7-30 Days		\$1,677.00	\$1,677.00	30 Days		
21	BACH TENOR TROMBONE REF: BACH TB301 OR EQUAL	2	\$460.00	\$920.00	7-30 Days		\$391.00	\$782.00	30 Days		
	BACH TENOR TROMBONE REF: BACH 36 BO OR	_									
22	EQUAL	2	\$2,340.00	\$4,680.00	7-30 Days		\$2,063.00	\$4,126.00	30 Days		
23	BACH TENOR TROMBONE REF: BACH 36 B OR EQUAL	2	\$2,340.00	\$4,680.00	7-30 Days		\$2,063.00	\$4,126.00	30 Days		
24	BACH TENOR TROMBONE REF: BACH 42 B OR EQUAL	2	\$2,340.00	\$4,680.00	7-30 Days		\$2,063.00	\$4,126.00	30 Days		
25	CERVENY TUBA REF: CBB 681-4 OR EQUAL	1	\$3,670.00	\$3,670.00	7-30 Days		\$3,735.00	\$3,735.00	30 Days		
	YAMAHA TUBA REF: YBB - 105WC OR EQUAL	2	\$2,420.00	\$4,840.00	7-30 Days		\$2,212.00	\$4,424.00	30 Days		
27	KING SOUSAPHONE REF: 2370W OR EQUAL	2	\$3,540.00	\$7,080.00	7-30 Days		\$3,017.00	\$6,034.00	30 Days		
28	KING SOUSAPHONE REF: KING 2350W OR EQUAL	1	\$4,990.00	\$4,990.00	7-45 Days		\$4,307.00	\$4,307.00	30 Days		
29	KING SOUSAPHONE REF: 2350WSP OR EQUAL	1	\$5,990.00	\$5,990.00	7-45 Days		\$5,180.00	\$5,180.00	60 Days		
30	MUSSER ORCH BELLS REF: MUSSER M645 OR EQUAL	1	\$880.00	\$880.00	7-30 Days		\$818.00	\$818.00	30 Days		
31	PEARL PERCUSSION KITS REF: PK800 OR EQUAL	6	\$164.00	\$984.00	7-30 Days	PK900C Current Model	\$143.00	\$858.00	45 Days	PK900C Current Model	
	YAMAHA CON BASS DRUM REF: CB640BFS7 OR										
32	EQUAL	1	\$1,420.00	\$1,420.00	7-45 Days	CB640BCS7 Current Model	\$1,259.00	\$1,259.00	45 Days		
33	YAMAHA GLOCKENSPIEL REF: YG-250 OR EQUAL	1	\$540.00	\$540.00	7-30 Days	YG250D Current Model	\$497.00	\$497.00	30 Days	YG250D Current Model	
34	MC ADAMS METRONOME REF: 20X OR EQUAL	2					\$810.00	\$1,620.00	30 Days	Model 30 Current Model	
35	DIGIMET DIGITAL METRONOME (OR EQUAL)	2			No Bid		\$689.00	\$1,378.00	30 Days	Digimet Model II Current Model	
36	PETERSONS STROBE TUNER REF: CS5000 II OR EQUAL	1	\$3,250.00	\$3,250.00	7-30 Days		\$3,619.00	\$3,619.00	30 Days		